x3=s0*0, y3=s0=6.67 xw:yw=3:2=28,0cm:18,7cm, s0=2,8 cm, scale=0,425 x2=s0*10, y2=s0*6.6
9 step series ...

9 step series ...

0,00 @=0,12 ¢=0,25 &=0,37 @=050 =0,62 &=0,75 ¢=0,87 1,00
save 7 data above as text

+0,04 HE+0,04 HE+0,04 HE+0,04 5|+0,04 HEE+0,04 HE+0,04 HIER+0,04 HIF—0,04 1

0,00 €1=0,12 c2=0,25 ¢3=0,37 <¢4=0,50 ©5=0,62 ¢6=0,75 <¢7=0,87 1,00

- adjust and proof threshold of
Aiference visble? BRI aciust threshold

restart with image 1

x0=s0*0, y0=s0*0

'hez90-7n, image 4, adjust visual threshold (+0,047) of 9 steps; all equal?



